EARAZROREIERT — 2 N—XBISY —F 2019548308 (k) 3MEI£R4H

miﬁﬁﬂkﬁ% CRA L MERSMRARE V7R —K \ (] 8 \ (sl — | 4 (5) 14000 KB
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R . . #BAK— .33, —1-1- . - HlIH#Z (£R)
ilglg| v oFLtT 4| B 1(3_3)2 1-1-1-1 | 40.4 2 <5+173; Tz
L:O0—-Kp+a7 B:714-2FLLy b TERABIS
0 = BREBA M) :33. —-3-2- . — hNEERNE (£R)
olalg|/ty b1 it 4 B 1 (333)8 3-32-2 | 40.5 7 42;2 mEnE
:7y3I7—L B:UIA/Fxay FEL ERB
< N BILRT : —6-6- - MEBED (2R
N AEEr # oo | Bk fus | oS (w4l - | o | NEE
k=P hTLERY B:Yv X MFNAERR BT 7— L
~ eae P EUIES : 03— — $FAREH (£2R)
. ) o o2 4| el 1.(314).0 2-2-3-3 | 40.7 1 (4_4“2) ot B2
2=/ XLy b BNX=TIINCF L7 N1
S N # g | BEAA 1:34.3 8-8-7-3 [39.6| — 4 458 | HARRK (£R)
5|7 7|7 TF 6.0 1172 G | B 77—z hETay
L:Faoo4 Baqvisqdr #;H B
S o S FFTR : 54— - HiEg—th (&R
5 6 S J T RT—Z 4 6 S (12.314/.28) 5-5-4-3 | 41.1 9 ?Es)) i
L:T772UI7 BETNLHE =Eictae
- - SEEER . 78 _ HHE—t (£3R)
sl g | 2va Ay 7 7 e 1(7311:) 7-7-8-8 | 40.0 5 (5_010) i
Rewy)AdyR B:EaT7I142K Nt
S A 4t 4 | BEHBAA 1:35.3 9-9-9-9 |39.3| — 8 421 | HBARR (&R
8 3| FITT1—F 54.0 ) @y | &) e
R:d=IWK7VUa— B:7z7U—-XFv7 B #Z
i : 2 4 | HEK 1:36.4 3-3-5-7 |42.7| — 6 478 | HARR (£R)
9|11 | FITVITAT=IE “ 7| 60 (5) Loy | ) Tr—ZbETa
L= R7PY2— B:NRydend = ¥
® I—F—@EBIERL
13—7F— 9,2,(1,8),6,4,5,7,3
20—F— 9,2,(1,8),6,4,5,7,3
T =35r= 9,8,2,6,1,4,7,5,3
40—F— 9,8,(2,4,6,7),1,5,3
[ RN
B 9 300M9 794K 8-9 1,420M & 8-8 5,180/ &R 4-8-9 5,760/
# B 9 130M 4-9 430MH B 8-8 3,220/ EE 9-8-4 30,640/
8 350/ 4-8 1,840H B = 8-9 5,380
4 180 BB 9-8 6,440

ABICOVWTRDTEEERROODE. TR LIV,



